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AYAIA Jls 25 16,129 16,188 A59
206 X2l 1,129 1,188 A59
01 24l 1,129 1,188 A59
OASEHSAIE STHEXITHE (I AFE ) 1,129 1,188 A59
2020E 2xss A5 36, 140 36,440 2300
TSR 2B L THIIs L5 36, 140 36,440 A300
206 X 24l 5,700 6,000 A300
01 24l 5,700 6,000 A 300
OFRSE P3AALE S(HAEZ) 5,700 6,000 A 300
OIN 235 ME M 469,899 470,149 A250
BI2t AgEHy X 9,750 10,000 250
301 Lt A= 9,750 10,000 250
10 HAIAHI 2 A2 4,750 5,000 A250
OAg=EQU3 &8 S(0aEZ) 4,750 5,000 A250
HHSAZAH| (OlALAEA) 5,001,775 4,701,097 300,678
ol 29| 4,723,605 4,416,105 307,500
ol 29| 4,723,605 4,416,105 307,500
101 Q14 4,556,885 4,253,085 303,800
01 B2 4,556,885 4,253,085 303,800
OARE JI=2Z2(109Y) 2,735,333 2,069,138 666,195
od22¢ 178,000 172,429 5,571
OUHRBRRA=E(14Y) 15,287 14,025 1,262
OAIZII 2R 2=EH(109H) 364, 140 336,106 28,034
O0FA2 24 (85H) 204,417 188,396 16,021
OFYL2RHEH(85Y) 230,987 212,352 18,635
OZelgeL=g(1y) 4,282 3,472 810
ORES XY (109Y) 0 162,240 A 162,240
OYASIIHI(109Y) 265,648 206,917 58,731
OJFAXIHI(109¥) 0 345,541 A 345,541
OS2 AHH (109Y) 73,794 57,472 16,322
204 S 43AHH| 166,720 163,020 3,700
02 Z=Z=EXH| 166,720 163,020 3,700
OAg=E(109Y) 166,720 163,020 3,700
Jl=AH| 278,170 284,992 NB,822
Jl=AH| 278,170 284,992 NB,822
201 LErRHH| 171,614 173,522 A 1,908
01 AtR22t2lH] 89,342 91,250 A 1,908
OAYMHADZXI (M AHE ) 36,242 38,150 A 1,908
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